Mouvement 1

T=40 ms
[ X (cm) a(m.s-2)
0 0,00
1 13,20
2 26,40 3,30 0,00
3 39,60 3,30 0,00
4 52,80 3,30 0,00
5 66,00 3,30 0,00
6 79,20 3,30 0,00
7 92,40 3,30 0,00
9 118,80
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Mouvement 2

T=35ms

i X (cm) a(m.s-2)
0 0,00

1 3,70

2 6,21 0,54 -9,8
3 7,51 0,20 -9,8
4 7,61 -0,14 -9,8
5 6,50 -0,49 -9,8
6 4,20 -0,83 -9,8
7 0,69

8 -4,02

9 -9,92
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T=04s
i X (m)
0 9.20
1 8.68
2 7.71 -2,58 -1,11
3 6.62 -2,75 -0,27
4 5.51 -2,79 -0,06
5 4.39 -2,80 -0,02
6 3.27 -2,80 0,00
7 2.15 -2,80 0,00
9 -0.09

Mouvement 3
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Mouvement 4

T=150 ms
[ x(m) | z(m)
0 0,00 0,00
1 1,84 0,95
2 3,69 1,69 12,30 4,17 0,00 -9,9
3 5,53 2,20 12,30 2,67 0,00 -9,8
4 7,38 2,49 12,30 1,23 0,00 -9,7
5 9,22 2,57 12,30 -0,23 0,00 -9,9
6 | 11,07 | 2,42 12,30 -1,73 0,00 -9,9
7 | 1291 | 2,05 12,30 -3,20 0,00 -9,8
9 | 16,60 | 0,65
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